


volume of cubaid
= Area of b@e X height

\\mmm. Let the adge of the cube
Swrface area of cube
= d{S8de) = ¢ @ em?
= 4 o
\so volume of cube
= (side)® = 2 opd
: When length of side of unhc is douhlc
aen side of mew cube = 2,
New surface area = 4 (‘lr)~ cm?
= 4x 4 om? = 162 e
= 4 (&) =4 x Surface area of
original cube

 Hence. if the side of the cube § 18 doubled surfuce
=1 mereases, four times.

») New volume of the cube = (side)?
= (20 emd
= &3 em?
= § x volume of original cube

Hence. if the side of the cube is doubled thcn
= volume increases eight times.
Q. 3. Find the height of a cuboid whose
wume is 275 em? and base area is 25 cm?
Selution. Let height of cuboid = h cm
Base area of cube = 25 cm?
Volume of cuboid = 275 cm?
Base area x height = 275

=X

25 x h=275
275 3
> ]1:: —23" = 1lcm ;

Hence, height of cube = 11 cm Ans.

Q. 6. A godown is in the form of a cuboid of
Yasure 60 m x 32 m x 30 m. How many
Whoidal boxes can be stored in it if the volume
Cone box is 8 m3 2 _

Solution. Volume of the cuboidal godown

- 60mx32mx30m :
= 57600 m :

Volume of one box = 8 m

Number of cuboidal boxes
Volume of cuboidal | godown
I

s ———————

- Volume of each box

= 17299 = 72”() Ans.
Q. 7. Find the volume of 2 cylinder whose :
(H r=7cm, h=12 cm
@ r=35cm, h=15cm
@ r=14m,h=10m.
Solutlon. (i) Here, r =7 cm, h = 12 cm
“Volume of cylinder

=m-h-~73x7x7x12cm3

= 1848 cm? Ans.
(i) Here, r=35cm, h =15 cm
o Volume of cylinder = r*h

2
= = x 35 x3.5x 15 cm?

= 577.5 cm? Ans.
@) Here, r=14cm, h =10 m

+ Volume of cylinder = 7,2p

22
= 7><14x1.4x10 m3

= 6160 m? Ans.

Q. 8. Find the height of the cylinder whose
volume is 1.54 m® and whose diameter of the
base is 140 em. -

Solution. Diameter of the base of the cylinder
= |40 cm

Radius of the cylinder

140
= 7> MmM=70cm=070 m

Let height of the cylinder = A m .
Volume of the cylinder = 1.54 m3

arh = 1.54
22
=7 x()’le?xh-.li.L
=154 h = 1.54
1.54
= h = —=
1.54

Hence, height of the cylinder = | Ans

|



Q. 9. Find the volume of a cylinder having
base arca 1.54 m? and height 3.5 m.

Solution. Base arca of the cylinder = 1.54 m?
Height (/1) of the cylinder = 3.5 m

. Volume of the cylinder = Base arca x height
1.54 x 3.5 m?

= 5.39 m? Ans.

Q. 10. A rectangular paper of width 14 cm
is rolled along its width and a cylinder of radius
20 cm is formed. Find the volume of the
cylinder.

Solution. A cylinder is formed by rolling a
rectangle about its width. '

Hence, the width of the paper becomes height
and radius of the cylinder is 20 cm.

’

20cm
11‘; cm 1T1 cm

Height of the cylinder = h = 14 cm
Radius = r =20 cm
<. Volume of cylinder
= V=unrh

22 e R T
"=~ %20 x 20 x 14 cm?
: 17600 cm3

Hence, the volume of the cylinder '

' = 17600 cm3 Ans.

Q. 11. Water is pouring into a cuboidal
reservoir at the rate of 60 litres per minutes, If
the volume of reservoir is 108 .m3, find the
number of hours it will take to fill up reservoir,

Solution. Volume of reservoir = 108 m3

= 108 x 1000 litres

; [+ 1 m3=1000 litres)

= 108000 litres.
The rate of ‘water pouring in the reservoir

= 60 litres per minute

= 60 x 60 litre per hour

= 3600 litres per hour
Hence, time taken to fill the reservoir

Volume 108000
Rate ~ 3600 f
=30 h Ans. ,
Q. 12. Multiple Choice Questions :
(!) Find the area of base of a cylinder.
(@) 7r*h (b) nr?
(¢) 2mrh (d) 2xr.
(ii) Find the volume of a cuboid having
dimension 4m X 2.5 m x 2m
(a) 20 m3 (b) 40 m3
~ (¢) 30 m3 (d) 200 m3.
(iif) If edge of cube is doubled then what will
. happen to its volume ? f

—

(@) Double (b) 4 times
 (c) 8 times (d) 6 times.

() 1 h= Gt i cm3 ;
(@) 1000 (& 100

(c) 10 L ;
(v) The volume of a cube with edge 1.1 is :
(@) 13.31 - (b) 1.331
(c) 133.1 (d) 1331.
Ans. (i) (b) 72 (i) (a) 20 m3

| (i) () 8 times @v) (a) 1000
™ (®) 1.331. '

[ Obiective Type Guestions™

s o — — — o—

(i) If the diagonals of a rhombus are 7.5 cm
and 12 cm, then its area will be :

@ 24 cm®> . (p) 36 cm2
(c) 45 cm? (d) 48 cm3,
Ans. (c) 45 cm?2,

¥ IS'

(i) Which of the following can be the unit of

area 9
(@ m (b) cm
(€) em? - (@) mm.

Ans. (c) cm2,



V.

; of a {7
@ Pihold fs ;

4 b
© (+b4p ) 20 + b 4

ot (d) 2 ~
AnS: () 20b + by 4 hi), (4 b) > p,

i) Surface area of a cybe of ed

(a) I? oan,
(c) 42 (d) 6P

yos. (@ 612, |

(v) The curved sug'face area of a cylinder jg -
(a) 2zrh (b)Y 2712 2T
(c) mrh (d)y 7r2h,

Ans. (a) 2nrh, A

(vi) The volume of a cuboid wij be :
(@ l+b+h '
(b) P+b24p2
) Ixbxh
d) 21 +b)xh
Ans. (¢) I X b x h.
vii) Volume of a cube will be :

(a) 617 (b) 412
() P (@) 6L |
Ans. () P , - ,
(viii) What will be the volume of a cylinder ? '
(a) 27rh (b) 7r?
(c) JtrZh' (d) il “h
Ans. (¢) mr2h.

(ix) Volume of a cubical vessei is one litre.
The length of the edge of cube is : -

(@ lem (b) 1m
(c) 10 cm - (d) 1 mm.
Ans. (c) 10 cm.

(x) If @ and b are the sides of a trapezium and
h is the perpendicular distance between
them, then area of the trapezium will be :

(a) —;— xaxbxh

(b) -}2-(a+b)><h

|
(c) —2-(a~b)><h
(d) (a + b) % h

I
Ans. (b) ‘2“((1 + b) % h.

‘2. Choose True/False for the following

questions :

(i) The distance covered around the boundzfry
of a closed plane figure is called its

R

— — — — -

perimeter. (True/False)
Ans. True.
(if) The region enclosed by a plane closed
figure is called its area. (True/False)
Ans. True.
(iii) Area of a rhombus is half the product of
. its diagonals. (True/False)
Ans. True. : ,
(iv) The area of a rhombus with diagonals 10
© cmand 82 cm is 40 cm?.  (True/False)
Ans. False. o
(v) Lateral surface area of a cylinder is 7z7#.
: (True/False)
Ans. False.
3. Fill in the blanks :
(i) Area of a trapezium
s of'pzarallelﬁdes x- perpendicular
‘ distance between them
Anps. Sum.
(ii) Area of a rhombus = Half the ......... of

its diagonals.
Ans. product.

(iii) Surface area of a solid is the sum of the
area of its ............ :

Ans. faces.
(iv) Amount of region occupied by a solid is
called itS; iiiiisionennsas ‘ :
Ans, volume. '
(v) 1 litre = .cennennn., cm?3
Ans. 1000.
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